CW 3.3.2 Name

1. Graph the line that

passes through the point

(3, 7) and has a slope of 2/\

Find the y-intercept. 1 EIEAE

(Crosses the W-antis, g2(0:1)

Write the equation of the line

in slope-intercept formy = mx + b.

8:&x+l

2. Graph the line that passes

through the point (6, 1) and 'S

1
has a slope of - .

Find the y-intercept. 4—/ T

Write the equation of the line®%"

(0-—('}-6(‘

in slope-intercept formy = mix + .

o=

Real-Life Si ion 1:

At a skating party, 2 people get on
the ice per minute. In 3 minutes,
there are 7 people on the ice.

$ 1 &y

#of PP

Independent Variable (x):

+# of Minute=y T
Dependent Variable (y): 2 ok teaudes

#H# o8 people on (¢e
Slope/Rate of Change:

2 oopla,/m nigte-
Write an ordered pair (')V(, y&om the situation_above.
" npl ('b 7

How many pe(o @%\gn the ice when the party started?
(y-intercept) {.L \1&(60 N

Write an equation to represent the situation. \%: Q\X&- \

Real-Life Si ion 2: _4
Every game of bingo you play
costs you $.50. After playing g ‘I

6 games, you have $1 left. N <

Independent Variable (x): i
= oK cgmes playg A >

Dependent Variable (y): A@FOQ MRS
| W Nave (el 8

Slope/Rate of Change: i
_@—50/30@% — /2

Write an ordered pair %’ y) from the situation abave.
g B (o)1)

How much money did you start with (y-intercept)?

\/Q(b\ +| : L‘k
Write an equation to represent the situation. &%: ~q r)(‘['




